Matching capacities

This task is about matching the capacities of everyday objects.

Select the correct capacity below for the milk bottle.

O 250 millilitres O 2litres
O solitres O 5 millilitres
O 10litres O 4litres
O 50 millilitres O 1litre
© 500 litres
Select the correct capacity below for the glass.
Q 250 millilitres Q 2litres
O solitres © 5 millilitres
O 10litres QO 4litres
O 5o millilitres QO 1litre
O 500 litres




Select the correct capacity below for the bucket.

O 250 millilitres O 2litres

O 50litres O 5 millilitres
O 10litres O 4litres

O 50 millilitres O 1litre

) 500 litres

Select the correct capacity below for the plastic rubbish bin.

O 250 millilitres O  2litres

O s0litres O 5 millilitres
O 10litres O 4litres

O 50 millilitres O 1litre

) 500 litres




Select the correct capacity below for the teaspoon.

O 250 millilitres O 2litres

O s0litres O 5 millilitres
O 10litres O 4litres

O 50 millilitres O 1litre

O 500 litres

Select the correct capacity below for the ice cream container.

O 250 millilitres O 2litres

O s0litres O 5 millilitres
O 10litres O 4litres

O 50 millilitres O 1litre

O 500 litres
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